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ECONOMICS
Paper — 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each.
All questions are compulsory.

1. Which among the following is/are true for a Cartel ?
l. It aims at maximising of individual firm’s profit.

I1. It decides the total output in the industry to which Cartel represents .
I1l. 1t does not fix the price at which members sell their output.

Answer from the code below :

(1) All are true. (2) land Il are true.

(3) Only Il is true. (4) Only I and Il are true.

2. Why does demand curve have a negative slope ?

l. Due to income effect only I1.  Due to substitution effect
Answer from the code below :
(1) Bothlandll (2) Onlyl
(3) Onlyll (4) Neither I nor 1l

3. Inthe entry prevention model of Bain, firms charge premium over
(1) Long period competitive price (2) Short period competitive price
(3) Lowest average cost (4) None of the above

4. Which among the following is not well matched ?

Goods Nature
(1)  Fishing in the large lake —  Non-exclusive but rival
(2) Air —  Non-exclusive and non-rival
(3)  Use of a light house — Rival
(4)  Stock of washing machines —  Exclusive

5. The slope of the production possibility curve is the
(1) marginal rate of exchange
(2) marginal rate of substitution
(3) average rate of transformation

(4) marginal rate of transformation
Paper-111 2 JA-001-17
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Labour supply before
Real immigration
wagew Labour supply after
6 | C D immigration
. W F
AE
X
O ” '
"L L Employment

The gain in profit income from an increase in immigration according to this diagram is :
(1) thearea BDL'L

(2) the area of WBDW'

(3) the areas WBFW' and FDL'L together

(4) the areas WBDW:' and FDL'L together

7. The demand for rare paintings, and rare stamps etc. is explained by which among the
following effect ?
(1) Snob effect (2) Bandwagon effect
(3) Veblen effect (4) None of the above

8. A market is said to be economically efficient if it maximises
(1) consumer surplus
(2) producer surplus
(3) aggregate of consumer and producer surplus
(4) None of the above

9.  Who among the following economists are associated with the concept of Quasi rent ?

I. A Marshal
Il.  J. Robinson
I1l.  D. Ricardo
Answer from the code below :
(1) Onlylandlll (2) landll
(3) All the three (4) Only Il
10. In the adjoining diagram, which of the line represent law of returns ?
E
Y
\ A
Capital \\\\\\/
B > C
P~
§
N—
X
0 D Labour
(1) OA (2) BC
(3) DE (4) Both (2) and (3) above
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11.

12.

13.

14.

15.

In the adjacent diagram, which of the following effects will alter the Aggregate Demand
Curve AD ?

Y
Price
level
AD
X
O Income
(1) Trade effect (2) Liquidity effect
(3) Wealth effect (4) All of the above
Match List — I with List - 11 :
List—1 List— 11
a. Keynes i. Interest is real phenomenon.
b. Irving Fisher ii.  Interest is non-monetary phenomenon.
c. Wicksell iii. Interest is both monetary and non-

monetary phenomenon.
d. Classical Economist  iv. Interest is monetary phenomenon.
Select the correct answer from the codes given below :

Codes :

a b c d
@ iv i i i
2 i i i v
(3 v i i i
4) i i iv i

1973 oil crisis also triggered a wide spread economic crisis in USA and some European
nations. In this context which statements are true ?

(1) It led to disillusionment with established policies based on Keynesian economics.
(2) There emerged a malady known as stagflation.

(3) New classical economics emerged as a challenge to Keynesian economic ideas.
(4) All of the above are true .

As per IS-LM framework, an increase in government expenditure will result in :
(1) increase in income and interest rate both.

(2) increase in income only.

(3) decrease in investment and interest rate both.

(4) decrease in income and interest rate both.

Which of the following can be considered as leakages in the force of the multiplier ?
(1) Higher propensity to import (2) Higher marginal propensity to save
(3) Both (1) and (2) above (4) Neither (1) nor (2) above
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11.

12.

13.

14.

15.
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16.

17.

18.

19.

20.

21.

According to Robinson-Uzawa theorem, steady state growth is possible if the technical
progress is :

(1) only Hicks neutral (2) only Harrod neutral
(3) only Solow neutral (4) Both Hicks and Harrod neutral

Which one of the following is not an assumption of permanent income hypothesis ?
(1) Transitory income can be both positive and negative.

(2) Permanent income depends on human and non-human wealth.

(3) Transitory consumption can be both positive and negative.

(4) Average propensity to consume is greater than marginal propensity to consume.

The Accelerator model predicts that changes in investment are determined by the changes
in

(1) Interest (2) Output
(3) Capital (4) Inventory

Which among the following statements are true for Schumpeter’s theory of economic
development ?

l. Development is evolutionary.

Il.  Development is financed by real savings.

I1l.  Capitalism keeps its character intact overtime.

Of the above which statement(s) is/are true ? Answer from the code below :
Codes :

(1) Onlyl (2) Onlylandll

(3) All the above (4) None of the above

Who among the following has not given his model based on the concept of unlimited
supply of labour ?

(1) D.W. Jorgenson (2) Ranis-Fei
(3) W.A. Lewis (4) Gunnar Myrdal

Which aspect of economic development did Gunnar Myrdal concentrate upon ?
(1) Capital scarcity (2) Human resource scarcity
(3) Regional inequalities (4) Population exploitation
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18.

19.

20.

21.
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22.

23.

24,

25.

26.

Fei-Ranis’s theory of economic development is based on
(1) dualistic approach to development

(2) presence of disguised unemployment

(3) importance of agricultural development

(4) All of the above

Andre Gunder Frank, a major dependency theorist suggests that the following economic
activities have contributed to underdevelopment :

() Replacing indigenous enterprises with technologically more advanced, global,
subsidiary companies.

(i)  Closing the economy to trade with, and investment from, developed countries.

(iii) Workers migrating from villages to foreign dominated urban complexes.

(iv) Forming an unskilled labour force to work in factories and mines and on plantations.
Choose the correct answer from the codes given below :

Codes :
@ (@), (iii) and (iv) (2) (i), (ii) and (iii)
(3) (i), (iii) and (iv) 4) (), (i), (iii) and (iv)

In a Harrodian economy, ICOR is 4.5 : 1, population growth is 2% per annum, and the
investment rate is 27%. Hence the annual growth of per capita will be :

(1) 25% 2 9%
(3) 6% @) 4%

Which among the following is not correctly matched ?
Author Book

(1) M. Friedman

(2) Amartya Sen

(3) Joseph Stiglitz

(4) Ruchir Sharma

Capitalism and Freedom

Argumentative Indian
In Defense of Globalization
The Rise and Fall of Nations

Which among the following statements is not true for the Golden Age equilibrium in the
growth model of Mrs. Joan Robinson ?

(1) Rate of profit tends to rising.

(2) Level of real wages rise with output per worker.
(3) Technical progress is neutral.

(4) Population is growing at a steady rate.

Paper-111 10 JA-001-17
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22.

23.

24,

25.

26.
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27.

28.

29.

30.

31.

For the Union Budget of 2015-16, arrange the following in the ascending order of their
percentage in GDP :

(i)  Revenue deficit (i)  Effective deficit
(iii) Primary deficit (iv) Fiscal deficit
Choose the correct answer from the codes given below :

Codes :

1) (i), (ii), (i), (iv)

) (i), (iii), (iv), (i)

@) (@), (iv), (iii), (i)

(4)  (iv), (i), (i), (iii)

While recommending horizontal distribution, which of the following criterion got the least
weightage by the 14™ Finance Commission ?

(1) Demographic change (2) Area

(3) Population (4) Income distance

If in a year, the gross fiscal deficit of Government is ¥ 3,00,000 crores, revenue deficit is
¥ 1,50,000 crores and interest payments are T 80,000 crores, which of the following is the
primary deficit of the Government in the year ?

(1) 70,000 crores (2) 23,000 crores
(3) ¥2,20,000 crores (4) T1,50,000 crores

As per proposals of Union Budget of 2016-17, which of the following tax contributes
maximum share out of total tax revenue collection ?

(1) Corporation tax (2)  Union Excise Duty

(3) Custom (4) Income Tax

Concepts of concentration and displacement effect in public expenditure are attributed to
(1) Allen T. Peacock and Jack Wiseman

(2) A.R.Prestand I.M.D. Little

(3) A.C.Pigou and J.K. Mehta

(4) Kenneth Arrow and Paul A. Samuelson
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217.

28.

29.

30.

31.
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32.  Which one of the following statements is true for the Verdoon’s law ?
(1) Long run productivity generally grows proportionally to the square root of output

growth.
(2) Short run productivity generally grows proportionally to the growth of output.
(3) The value of Verdoon’s coefficient is nearly equal to 1.

(4) Verdoon’s law is quite in consonance with Solow model’s functioning.

33.  Which among the following can contribute to improvement in industrial climate of the

region ?
(1) Development banks (2) Trade unions
(3) Natural resources (4) All of the above

34. Researchers indicate that income velocity of money is falling overtime due to
(1) income elasticity of demand for money is greater than unity.
(2) income elasticity of demand for money is less than unity.
(3) income elasticity of demand for money is equal to unity.

(4) All of the above

35. According to Monetarists, demand for money function is
(1) stable and interest inelastic (2) constant and interest elastic

(3) stable and interest elastic (4) unstable and interest inelastic

36. Arrange the following liquid assets in decreasing order
(@ Time deposits (b)  Saving deposits
(c) Currency (d) Demand deposits
Select the answer from the codes given below :
(1) d,ab,c (2) c,d,b,a
3 anb,dc (4) b,acd
Paper-I11 14 JA-001-17
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32.

33.

34.

35.

36.
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37.

38.

39.

Match the following :

List—1 List— 11
a. Alfred Marshall i. M=PKT
b. Irving Fisher ii. M=PKY
c. Robertson iii. N=PK
d. Keynes iv. MV =PT

Select the correct codes given below :

Codes :

a b c d
L iv i i i
2 iioivood i
3 i i i v
@ Wi v i

In his theory of money, James Tobin did not agree with which of the following inferences/
assumptions of the demand for money for liquidity preference enunciated by Lord
Keynes ?

l. Elasticity of expectations of future interest rates
II.  Individuals hold either money or bonds

Of the above which are correct ? Answers from the codes below :

Codes :
(1) Onlyl (2) Onlyll
(3) Bothlandll (4) Neither I nor 1l

A population pyramid of a country shows the :
(1) age structure of male and female population
(2) age structure of male population

(3) age structure of female population

(4) age structure of rural and urban population
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37. T=faRad % gafed e

Tl -1 e - 11

a. TGRS AN i, M =PKT
b. 3o fReR ii. M =PKY
c. dEeEd iii. N=PK
d. T iv. MV =PT
feAtetEd e @ 3w 9T
% :

a b c d
@ iv Qi i
@ Qi v Qi
@) i i i v
@ i i v i

38, SiTg 2o RT & 310 g H TS Pt gRT UAUISe Retdl i @i & fow qe1 &6 5T &
Frefefad Rl /A=adiett & |1 Seqd Tet o1
I Yo 31T 84 hl TedTem &l o
II.  =afe o at go1 3@d & A1 sivg

S o &
e e T et @ S I
H :
(1) el (2) Fa 1
(3) 13 IIgA (4) 131 H HE T

39. ferdlt ST o1 ST i TR e #
(1) o9 Ud Hieet SIHEE H 3 T
(2) O SHUEAT Hi 3G VAT
(3) TfEET U it 3G T
(4) TTHT TS TRE SHEET H ST T
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40. If the actual unemployment rate is below the natural rate of unemployment, it would be
expected that

(1) the rate of inflation would increase.

(2) wages would fall.

(3) the Phillips curve would shift to the right.
(4) the natural rate of unemployment would fall.

41. Demographic transition means :

(1) Shift from the condition of low birth and high death rates to high birth and high
death rates.

(2) Shift from the condition of high birth and high death rates to low birth and low death
rates.

(3) Shift from the condition of high death and low birth rates to high death and high
birth rates.

(4) None of the above.

42. In the context of International Trade dumping refers to
(1) Free distribution of used products by developed countries in developing countries.
(2) Selling a commodity cheaper in foreign market and costly in domestic market.
(3) Sending cheap goods to developing countries by developed countries.
(4) None of the above

43. Match List — I with List — 1l and select correct answer from the codes given below :

List—1 List— 11
a. International Monetary Fund i.  Lending to private sector
International Bank for Reconstruction ii. Balance of Payments problems
and Development
c. International Development Association iii. Soft Loan to poor countries
d. International Finance Corporation iv. Socio-economic infrastructure
Codes :
a b c d
@ i [ TTR)Y,
2 i i v il
(3 i v ii
4) i ivoodii i
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40. 3fE aTEdtaeh SRISTIRT ST SRISTTRT 3t WThideh &% & = & o I8 UeaTem i ST o

(1)
)
(3)
(4)

TR T I TS|
TSGR T |

ToRieTe a5 et 3TR Ra@eh |
SUSTTRT ST WTeh{cTeh 5T T |

41, SHYNEDHET GHE0T 6T AT ¢

(1)

()

(3)

(4)

FH S X 31T 39 g X B (@ ¥ 3=9 50 R 3R 39T g X A fedfd A R
e |

Ie S T AR Io Geg X W Al § HH W T AR HH g T B Refd R
T |
=9 I T AR FH T W H @q ¥ I 9og W SN I= 99 X Ff feia woaw
Eca il

ST § ¥ HIE T |

42, LT AR F T | e (ST) 1 e €

(1) Tommham 3 GRT T €T Y Ses} o ferehreier aui § e foer |
(2) g &g i foRel § T 37 o] SR A FE@T SO |
(3) forspfac 3o gRT forepraetict S H T Sy S |
(4) SUHH B Tl |
43. gl — 1 1 gl — 11 % 6 geferd L AR e KT T Fel § | Wl I B o B
et -1 =t - 11
a. SIS TR HT i, Pl 8 wsuR 3
b, TTETHA S BR RBEHRE i TTAE o THE
Tg STeIHE
c. TITATHC TTTHE CHIURE i, A SO b oMM Wil WX ko1
(HTH &)
d. ST for iv. ISR ST ST
&< .
a b c d
1) i i i v
(2 i i iv i
3 i v i i
4 i iv il i
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44,

45.

46.

47.

48.

49.

50.

A deficit in balance of payments can be corrected by :
(1) areduction in interest rate (2) discouraging capital inflows
(3) anincrease in interest rate (4) restricting remittances

In the terminology of WTO, which among the following is not an amber box subsidy ?
(1) Minimum support price of cereals

(2) Subsidy on seeds

(3) Subsidy on irrigation rates

(4) Cost of government pest control and management

The weight of manufacturing in old IIP (base 1993-94) was 76.36% which has now been
changed in the new IIP (base 2004-05) at

(1) 75.53% (2) Unchanged at 76.36%
(3) 78.22% (4) 79.39%

Which of the following agricultural holdings have largest percentage in India ?
(1) Marginal Holdings (2) Small Holdings
(3) Large Holdings (4) Semi-Medium Holdings

First two States/Regions in India having highest yield of rice in 2013-14 were
(1) National Capital Territory of Delhi and Punjab

(2) Punjab and West-Bengal

(3) Andhra Pradesh and Haryana

(4) Punjab and Uttar Pradesh

Which among the following rates is independently determined in India ?
(1) Repo rate (2) Reverse repo rate
(3) Both(1)and (2) (4) Neither (1) nor (2)

The main objectives of the 12" Five Year Plan are

(1) inclusive growth and poverty reduction

(2) inclusive and sustainable growth

(3) Faster, sustainable and more inclusive growth

(4) Sustainable and inclusive growth to reduce poverty and unemployment
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44,

45.

46.

47.

48.

49.

50.

T T H 1S 1 Feferad 3 9 e gR1 @@t o ST deha € 2
(1) =S ST H werdl (2) ST 3icaTE T EdicEd BT
(3) ISR H g (4) Tovuor W gfase ST

forger SAMR He it vsgrEett § Fefeiaa § @ S 9 did gies TS T2l 8 ?
(1) 3™ & FATH TR T

(2) SIS R ISR

(3) TE=mE T W TSI

(4) THR Pl HIAUT R TeE" AT

R 3T IR G (MR 1993-94) § fafTaior &1 9R 76.36% 1 ST AU =TS

SR A (3R 2004-05) § S_eART TTE |
(1) 75.53% (2) 76.36% WX 3TuREtad
(3) 78.22% (4) 79.39%

ffefad & | i-a1 FiT Sia 9Ra 9 gaityes uiaed 9 & 2
(1) i S ) wga
(3) = (4) Irs-mem @4 fafeam) S|

Y 2013-14 H R § 1 I Gl SAGhHAT dlct ToT 3 IoA/e T F |
(1) T T & oot SR dete

(2) USSR UrvEE STt

(3) Y WRY R eRAmT

(4) U SR TR UL

frefofiad § ¥ i9-91 U8t IR § @idy ® 9 [H4iid e 872 2
(1) WE (2 Redme
(3) (1) 3R (2) 3T (4) (1) 3R (2) " 9 FE o T

128t GeEE ST % T 3 €

(1) THEST o 3 T § HH AR |

(2) THEST R Fad o |

(3) T, Taa qun X 31tk THIES o |

(4) TR SR SRISTIRT 7 e & Tad R gareen o |
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51.

52.

53.

54.

55.

Match List — I and List — 11 and select the correct answer from the codes given below :

List— 1| List— 11
(Index) (Base Year)
a. BSE Sensex i. 2012
b. NIFTY ii. 2011-12
c. CPI iii.  1978-79
d. GDP iv. 1995
Codes :
a b c d
@ aioivod ii
2 v i i ii
3 iv i i
4 @i v

As per 2013 information, arrange the following States in the decreasing order of infant
mortality rate :

l. Uttar Pradesh Il.  Rajasthan
I1l.  Madhya Pradesh IV. Odisha
Answer from the code below :

@ uLiv, L (2 IV, 1l
(3) LIV 4) N1V

Which of the following are not considered as flow variables in economic analysis ?
(1) Supply and demand (2) Saving and investment
(3) Money supply and public debt (4) Exports and imports

If the Reserve Bank of India wishes to decrease the money supply, it should
(1) raise statutory liquidity ratio (2) buy treasury bills in the open market
(3) raise the discount rate (4) lower the reserve requirements

Which of the following is included in M, ?

(1) Savings deposits

(2) Demand deposits

(3) Gold stock

(4) Assets under money market mutual funds
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51.

52.

53.

54.

55.

Tl — 1 31 Gt — 11 ol GAferd Y 3T e T T F2i § T el ST BT a9 h

e -1 e - 11

GREIED) (STETE W)
a. STHTHER i 2012
b, FwER ii. 2011-12
c. Wrdemg iii. 1978-79
d. StErdr iv. 1995
% :

a b c d

1 i v i i
@) v i i i
@) v i i i
4 @i iv i

g 2013 S I & IR, 9] g I & Hed gU HH § FeAfeiad Isat i e S

. SHWRY I o
M. T U=ST v. sifeem

T RU MU H T WS

OERINYARL ) IV, 11,1
3) 1,111V @) LIV

frfoiad 5 9 forg = 1 31feres fageivor § yame =) 98l /T S & ?
(1) b e Em (2) T=d o Fa
(3) T U T QAT T (4) e e

R=1d de 57 3MYfd gemT @ &, 36 Fefeiad § 9 391 & 91 2
(1) ANt TREAT ST i ST AMET |

(2) T IR H TR et TisH 91y |

(3) = R H Fhg FA =T |

(4) oTRET HT H HAT |

M, ¥ frefetfad & | e &1 e g § 2
(1) ==a s
(2) HfT S
(3) @l YER
(4) W AR I He & 3T STRear
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56. Arrange the following committees appointed in India in the chronological order :
l. Urjit Patel Committee Il.  Goipuria Committee
I11.  Narsimhan Committee IV. Chakravarti Committee
Answer from the codes given below :

Codes :
@ LIV (2 IV, I
(3) ML LIV 4) 1V,

57. For the following policy rates (as on 30.9.2016) of the RBI, arrange them in the
descending order of their magnitude and select the answer from the codes given below :

l. Bank rate Il. Repo rate

. SLR IV. Reverse Repo rate
Codes :

@)  HLH v (2 uLLv

3) LiILuLv 4) "L v

58. Arrange the following climate events in chronological order :
l. Kyoto Protocol
Il.  Earth Summit
1. Bali Summit
Answer from the codes below :

Codes :
@ 2 I,
(3 HLLN 4) L

59. The single window system in the Cooperative Sector coordinates
(A) Supply of rural credit
(B) Supply of agricultural inputs
(C) Extension of marketing facilities
(D) Creation of warehousing facilities
Select the correct answer from the codes given below :

Codes :
1) A&B 2) AB,C&D
(3) A B&C (4 C&D
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56. YRA | Tied FEfaRad Qafaar st HeshI R 9e

I 3t et |t . TEgREr gt
. =R 9mia IV. shad 9mEfa
e ST M0 el HH IWE

FT

(1) I 1, 11, IV (2) 1V, 1L 111, 1
(3) 1L 1,11, IV (4) 1,1v, 1, 11

57. uRdE fod s &t Fefatad |ifd 330 (30.9.2016 % AR % 6T 3% 3% IRaToT & g Y
H T IR A ST M0 %t § | WEt ST H 9hT

. S I WM

M. UEUA IR Iv. REg 3w sT
% :

(1) LI, 1V, 1 (2) 1L 11V, 1
(3) 1,1, 11, IV (4) 1, 1,10, IV

58. T=TaiREd STotarg el FHeHT hl 3% HIOBHHHR TSI
A oici §*  ciCa ]
. o aie
1. et 9ie
I ST T Fe T WS
FE :
(1) 10,1, 1 (2) 1L, 1, I
(3) L1, 1 (4) 1,1, 10

59. eI &1 H Uehel f@geh! Wulett Fet § § fohgept Tm=a et € 2
(A) TTHIOT 0T BT YA
(B) i ST i 3mgfq
(C) foqur glaenait o faar
(D) YUSHIR fawnaf & Fafor

e 5T T el | W e ST A I B

% :

(1) A3RB (2) A, B, C3RD
(3) A, B3RC (4) C3RD
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60.

61.

62.

63.

64.

65.

Consider the following reasons of continuous decline in average land holding size in India :

(@ Farm mechanisation (b) Consolidation

(c) Desire of land ownership (d) Law of inheritance
Select the correct answer from the codes given below :

Codes :

(1) a/b,c (2) ab,c&d

(3) b,c&d 4) cé&d

The questions (Q. No. 61 — 65) given below are two statements labelled as Assertion (A)
and Reason (R). Select your answer to these questions using the codes given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)istrue, but (R) is false.

(4) (A)is false, but (R) is true.

Assertion (A) : An improvement in the income terms of trade is an indicator of increase
in capacity to import.

Reason (R) : Income terms of trade can be computed by multiplying net barter terms of
trade by the quantity of imports.

Assertion (A) : Industrial development strategy in India is faced with the choice of scale,
size and intensity of factor use.

Reason (R) : Factor imbalances and resource flows are not favourable to sustainable
industrial development in India.

Assertion (A) : Agricultural production is characterised by growth and instability in
India.

Reason (R) : There are marked inter-regional and inter-crop variations in farm production
in India.

Assertion (A) : Regional Trade blocks hinder free international trade.
Reason (R) : They discriminate against non-member countries.

Assertion (A) : A progressive income tax is based on equimarginal sacrifice.

Reason (R) : Higher the income, lower will be the marginal utility of money for the tax
payers.
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60.

61.

62.

63.

64.

65.

IRA § 3G -7 % Taqd ged HR b HEAfeArad SR 9 e &

(a) P T FATHOT (b) TSRS

(c) Y-TAHA h TS (d) STRIYSHR H HHA
T 5T T et | ¥ WEl I H I A

% :

(1) ab,c (2) a, b, c3Rd

(3) b, c3Rd (4) c3Rd

(599 . 61 — 65) T 31 Fo T M0 & H v i (A) € 3R gHU 9% (R) | W &
IR 1 =TT A T T 2l 6T T e

(1) (A) 3R (R) I T € 3R (R), (A) H TE AL |

2) (A) 3R (R) I T €, W (R), (A) i Fel AT T ¢
(3) (A) WEl g, W (R) ToAd & |

(4) (A) ToId &, T (R) W& € |

ATHHYA (A) : SUR I T It § GER T ST ST b &7 H g T Gosh e ¢ |

A% (R) : SR B Fohel SR-TAHTT It § AT B! G O R AR T 3 Il bl
T feaT ST Gl & |

AR (A) © R § ST foehr THITT | T9 S S, SR X FIE T i e
T L & IS § |

AP (R) : TE 3G 3R TQTE Yag YRd § Fad ST foem & faw srget 76 € |

AMHHYT (A) : IR § FY IARA & A0 foTahr 37X TR ¢ |
A% (R) : 9RA H HY SCRA | WL T ¥ STR-GAT 3R SR-Tdcdl ST I S & |

AU (A) ; ST AR AT Goid SRS AR | S1efh € |
A% (R) : ¥ -T2 & Q1 HIHF YA & |

ATUHUT (A) : WTHT ST TH-HHI T W S eiar € |
qF (R) : 31T 7o 21Tk gl & HRETT & foTd GoT ot T ST Sat &9 gt § |
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66.

67.

68.

69.

70.

The production function Q = 150 L%" K%, exhibits the returns to scale as :
(1) Constant (2) Increasing
(3) Decreasing (4) Fluctuating

In an open economy Input-Output model, A is the input-coefficients matrix, the viability
condition to be satisfied is

1) [I-A[#0
@) [I-A[>0
@) |I-A[<0

(4) All principal minors of the matrix (I — A) must be positive.

Match the following :

List—1 List—11

a. Granger Test I.  Auto-correlation
b. Dicky-Fuller Test ii.  Causality
c. F-test iii. Stationarity
d. Durbin-Watson ‘d’ test iv. Overall significance of regression
Codes :

a b c d
@ i i iv i
2 v i i i
3) i i v
4 iiowiv i

Indirect least squares method of estimation is applied to equations of a simultaneous
equation system. The estimates so obtained will be

(1) Unbiased and consistent (2) Biased and consistent
(3) Biased and inconsistent (4) Unbiased and inconsistent

Given the following total cost and demand functions of a firm, find the price at which
profits would be maximised :

C =5Q°+20Q + 10

P=100-3Q
Where C = Total cost
Q = Output
P = Price
(1) 95 (2) 85
(3) 100 4 5
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66.

67.

68.

69.

70.

IR ®e Q = 150 L7 K fr=fafaa # @ ford webR & 99 o1 Ufdthel IR el & ?
(1) fer fe 2) A=
(3) AR (4) waE gy

TRt TRt ST SITA-Td Oieel § A TRTG-TuTis Hieed &, sagmadn fefd fFefated o 3
foheent T 4 2

1) |1-A]%0
) [1-A>0
(3) [[-Al<0

(4) A (1 - A) F T I SU-TRI0TE ST &

fefefad = gaferd =
e -1 e - 11
a. TS TReTOT . ey
b. TeoRl-ForT wietor ii. RO
c. F-udefor i, TeRar
d.  SfeF-aHT ‘@ Ty, HHHEO H GAT Hew
HT
a b c d
Q) i i v i
2 v i i i
@) i @i i v
@) i i v i

3Tl ST FATH o faIfer Bl UART JTaq FHIHOT WOt o FHIHo & ferw foam S
T | 39 UER § WIS 3Tk 1 |
(1) oM 3R Fma (2) ahEa Bk E

(3) AN 3R T (4) 3N 21 ST

T g T R W @ Per ST 3R HAT Weld % SR, I8 9 {6 R wima o¥ oy
ATehe B |
C =5Q% + 20Q + 10
P = 100 — 3Q
Sl C = ol T
Q = 3dR_A
P = ST
(1) 9 (2) 85
3) 100 @) 5
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71.

72.

73.

74.

75.

Y
E
C
H
A
G I
0 F DBX

Consider the above diagram of a linear programming problem. If the optimum solution is
at point A, then the slack variable(s) corresponding to which constraint(s) is/are non-zero ?

(1) ABonly (2) ABandCD
(3) EFonly (4) CDandEF

In a two-variable regression Y is dependent variable and X is independent variable. If the
correlation coefficient between Y and X is 0.7, then which one of the following result is
correct ?

(1) 7% variations in Y are explained by X.
(2) 70% variations in Y are explained by X.
(3) 49% variation in Y are explained by X.
(4) 0.7% variations in Y are explained by X.

Koyck’s approach to econometric analysis deals with relationships involving :
(1) Lagged explanatory variables

(2) Qualitative explanatory variables

(3) Exponential explanatory variables

(4) None of the above

For the demand function P = 10 — 2x — 0.5 x?, what is price elasticity of demand at x = 2 ?
(1) Zero (2) 05
@ 1 4) 15

In a regression with 3 independent variables and 20 observations F value calculated is to
be tested. What will be degrees of freedom for numerator and denominator in testing
procedure ?

1) 2,18 2) 3,17
(3) 3,16 4) 3,20
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71.

72.

73.

74.

75.

Y
E
C
H
A
G I
0 F DBX

T G T IO % IUYE 3G W AR #ifT | afs g A W gedy & € o e
ey &% T i’ TR I &8 2

(1) T AB (2) AB 3R CD

(3) A EF (4) CD 3R EF

T T FEIHEAU H Y ST W R X W WE | AR Y IR X F a9 Te-gay onies 0.7 §,
freferfad & & i o1 aRkoms T ¥ 2

(1) XERY T 7% foaae =i e & St ¢ |

(2) XFWY T 70% forae ot S &t S ¢ |
(3) XFRIY W 49% Toraet st =T & STt & |
(4) XFRY T 0.7% et &t = &t St & |

aifhfq fageiaor = we SUrH fohe Gedi e | € 2
(1) focifad samerEs a2
(2) TOTCHS ARATHE T

(3) T ARATHS T

(4) 3o A 1 T

T ®e P = 10 — 2X — 0.5 X2 & foTT X = 2 o | 9 0T Sl hiad aire feoha=t gt 2

1 == (2) 05
@ 1 (4) 15

3 T W 3R 20 STCHFAT & THISHU § TUMFT {5 7T F Jod i Sire A1 € | S st uishan
T 3797 3 & & o T ife =n gnt 2

1) 2, 18 2) 3,17
(3) 3,16 4) 3,20
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